Question 1 (14 points) Name l-tu.!-

a (10 pts) Mevacor, shown below, is vsed clinically we lower cholesternl levels. Circle all the
slerenpenic centars in Mevacor.

Mumber of possible sterenisomers of Mevacor

Q‘E

b, {4 pis) Draw a 3-D piclure of (5)-3-methyl-3-hexanol on the partial straclure below, The
TA'z will sell vou the structune of 3-methyl-3-hexanal for | point, if vou need it
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Queslion 2 {9 puints)

a. {3 ptsy Complews the bond-line (carfwon skelewnn)

MName Hl'-"'-.r

T

drawing for the Fischer projection below,

Bond Line Structure

v, 3 prs) Assign an R or 8 conlipuration W cach sle
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reogenic center in the following molecule.

=

s
Ho—<H

CH,OH

¢. {3 ps) Draw a Fischer projection of the following molecule,
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Question 3 (12 points) Name ey

Label the following pairs of struclures as one of the following: identical, structural {or
constitutional) isomers, enantiomers, or diasteresmers,

a. [3pts)
CH;
|
Cl—1—H HACHAC E E CH diestereomer
HaG——H - °
HiaC H
CH:CHg
b (3 pis)
C(CH)s Br
Br——H [H:J‘G]:;D__H ntnkiomers
H—T—MH: HzN—1—H
CilHz), C{CHsls
c. (3 pts)
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Question 4 (12 points) Name Wey

Label the following pairs of struclures as one of the following: identical, structural (or
canstitutional) isomers, enantiomers, or diasteresmers,

a. (Ape)
GH.CI CHzCHa
: (!.., wdenkeal
f CIH,.C
b. (3 pts)
H.M
2 #',H HsM ’pCOQH .
HoCH4 ; HaCHa diaktertomen
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¢ (3 pts)
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Question 5 (17 points) Name key

For each of the following sets of structures in parts a - d, choose the compound Gl best s e
descriplivn,

a. {3 pts) s the best nucleophile:

H-0 F 1o

B. (3 ptsd Reacts most rapidly in CHROMNa in acetone:

/\(l /}\ W'@D

<. {3 ps) Reacts most rapidly in a solvalysis reaction in methanol:

(SN

. 3 pis) Rescis most rapidly with Mal in DRSO solveni:

oT
P CTs ><‘ ’ J\/
T=l

g, (5 pls) Arrange the following in order of inereasiog leaving group abilily.

CH,CH,COy CH.CF,CO; CH;CH;CH,O CF;CH;COy CH:CH.CH,OH
A B C D E
< A (M B E

CHalHztut e CHzW: W = CFplHite, < CuyQFzor < Q:{HEHF“‘IDH

Wirs Best




Questinn 6 (15 points) Name  Hey

Ciive the complete structure of the major organic prodoct(s) for the [ollowing reactions.  Put your
gnswer in the box provided. Be sure to indicate stereochemistry where appropriate. Wrike N.E.,
if no reaction uoewrs,

a3 pls) ){’\
T
Na! N . R .

{CHy)sCCHy=—Br i
acetone

b. (3 pis)
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Question 7 {9 points) Name ht‘i

Provide the missing reagents and products for the following transformation.  The reagents
should be listed in order of use if more than one synthetic step is necessary.

MaOH
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Question § (12 points) Name k’“‘

Lising the correct curved arrow formalism, draw the hest mechanism for the fullowing
subslitution reaction. Explain why a racemic mixture of produets is formed. Be sure to show the

stercochemistry of the products in the boxes provided,
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Extra Credit {10 points) Name ‘ri*fltir

ONLY ONE O THE EXTRA CREDIT PROBLEMS (a or h) WILL BE GRADEI.
a. Propose a echanism for the following reaction that is consistent with the data given.

H.0

“*;N/\/Bf — H/Nwﬂ” +  HBr

DATA
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———— .
[ D ;,JN
I:i'i:' H P H “,D
SN B a0 e H
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AT VAN |

ONLY ONE OF THE EXTRA CREDIT PROBLEMS (a or b} WILL BE GRADED.
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Kxtra Credit (10 points) Name leey

ONLY ONE OF THE EXTRA CREDIT PROBLEMS (a or h) WILL BE GRADED.
b The 1.3 —dimethylallenes (CHyCH=C=CHCH;) exist as isomers,

1) Dhaw all the possible isomers,

{ii)] Classily the isomers a5 structural {or constititional) isomers, enantiomerns, or

diastercomeys.
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ONLY OME OF THE EXTRA CREDIT PROBLEMS {a or b) WILL BE GRADED.



